BR #29
Autumn found an old cannonball that had rust on it.  She decided that the iron had been exposed to air and water, which caused the rust.  Autumn based her decision about the reaction between iron and the air and water on what?
A.
The reaction represents a chemical change because iron oxide has a different melting point than iron.

B.
The reaction represents a chemical change because iron oxide is a new substance formed on the cannonball.
C.
The reaction represents a physical change because both the original cannonball and the rusted cannonball are solids.
D.
The reaction represents a physical change because the rust is just a mixture of water and iron.
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

LaSondra allowed a beaker full of clear water to evaporate over several days.  After the evaporation was complete, she observed a white residue on the walls of the beaker.  What conclusion can LaSondra make about her observations?
A.
A chemical change took place because the residue was not there before.

B.
A chemical change took place because a change in phase had taken place.

C.
Water is chemically stable.  Therefore, it does not undergo chemical reactions.


D.
The water could have contained a dissolved salt that remained after the water evaporated.

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

What is the name of this common chemical reaction and where does it occur?

                    6CO2  +  6H2O  (  C6H12O6  +  6O2
The chemical reaction represents photosynthesis and it commonly takes place in the leaves of plants.

